INTERNATIONAL EQUITY TECHNIQUES

I. Financial Analysis

· Purpose of international financial analysis:

Determine undervalued stocks in order to earn above normal returns.


A. Problems in Domestic and International Environments

· Theoretical value of a common stock:

So = D1/(1+i)1 + D2/(1+i)2 + D3/(1+i)3 +…….D(/(1+i)( =

· Problems with determining the 'true' value of a common stock:

*Future CFs are unknown

*I not the same every year


B. Problems Unique  to the International Environment

1. Financial information, even if it is available, may be in a format:

Unfamiliar format


2. Foreign financial reports are not directly comparable  to domestic counterparts. (other foreign countries)


3. Language barriers exist which make precise interpretation difficult if not impossible.



4. Regulations, customs, tax laws and economic goals vary widely.

5. Institutional standards in some countries prohibit the ________ of



corporate information which would make the use of the above model 



impractical at best.

II. An International CAPM
· Assumes markets are efficient:

REM: international efficiency an integrated world market

The Central (Unanswered) Question is: Are asset prices determined in an internationally integrated market or in local, domestic markets?

· If assets are priced internationally:

The world index is the appropriate definition of the ‘market’

· Implications:

If assets are priced internationally then to not invest in foreign markets is taking on unsystematic risk for wich you will not be rewarded.

· If assets are priced domestically:

Market is the domestic ‘market’

· Implications:

If assets are priced domestically then foreign investments can provide a hedge and can be used to reduce systematic risk.


A. (Extremely) Brief Review of CAPM

· Recall that total risk (() = systematic (() risk + unsystematic risk.

Systematic risk is market risk which cannot be diversified away.

Unsystematic risk is industry or security specific risk (country)

· Recall the domestic CAPM: Capital Asset Pricing Model

E(Ri) = Rf + (i,m (E(Rm) ‑ Rf).

Where:

Rf = the domestic risk free rate; (T-bills)

E(Ri) the expected return on security ‘i’;

E(Rm) = the expected return on the domestic market;

(i,m = the systematic risk of security ‘i’ relative to the domestic market 'm'.

beta measures the sensitivity of movements in a given security to movements in the domestic market.

· Market risk premium: E(Rm) - Rf

· Beta of the market: 1 b/c the sensitivity of movements in the market to itself is one

· Aggressive vs defensive stock:

Aggressive stocks have betas greater than one and defensive stocks have betas less tthan one.

· Implications of the model:

Expected returns are a linear function of systmatic risk defined as the domestic market

· Example:

T-bills yielding 4.5% and the return on the market is 12% the beta of xyz is .8, what is the expected return on xyz?

E(Rxyz)=.045 + 0.8(.12-.045) =


B. International CAPM

E(Ri) = Rf + (i,w (E(Rw) ‑ Rf).

Where:

Risk free rate=Eurodollar rate

(i,w =
sensitivity of stock 'i' to the world market = (i,d x (d,w;

(i,d =
sensitivity of stock 'i' to domestic market;

(d,w =
sensitivity of domestic market to world market.

· The above model assumes that world capital markets are fully _________.

integrated

· Note that superior performance can come from two sources instead of one: (1) country selection; and, (2) individual stock selection.

To determine superior country performance: 

Expected return on the foreign country’s market + [the domestic country’s risk free rate – foreign country’s risk free rate]

E(Rfm) + [Rdom/rskfree-Rfor/rskfree]

Stock selection:  All variables are defined in the domestic market

E(Ri) – Rf = Bi(E(Rm) – Rf) + (

C. What Difference‑ Does it Make?

· If domestic securities are really price in a domestic environment:

· If domestic securities are really priced in a world environment:

D. Empirical Evidence on Beta and the CAPM
  (1)  Zero beta stocks:


(2) Beta's short term performance:

          (3) Current betas are unreliable predictors of ‑‑‑‑‑‑‑‑‑‑‑​betas.

          (4) Joint testing required:


(5) The CAPM is not robust:

· Question: Are the above problems applicable to both the domestic and international CAPM?

· Question: Do alternative models exist?


E(Ri) = Rf + (i,w x E(Rw) + (i,GDP x E(%(GDP) + (i,( x E(() + (i,c x (%(C) 
+ (j
III. Other Considerations in International Equity Returns

· Research has shown that _________ factors are more important in affecting stock returns than international factors.

· Research has shown that the stock prices of multinational firms (MNFs):

IV. Currency Movements and Stock Values

· Currency value and stock values change in response to the same two basic categories:


(1) Changes in real yields:


(2) Changes in inflationary expectations:

· Main conclusion:  Normally stock prices and currency values are __________ correlated such that when currency values are increasing so are stock prices and when currency values are decreasing so are stock prices.

· Question: Why might we observed different relationships in the market than the ones suggested above?

INTERNATIONAL CAPM

BRITISH TELECOM trades on the NYSE as an ADR and trades on the LONDON STOCK EXCHANGE. Given the following information, answer (a) ‑ (b):

(BT,L= 0.80


World Market  (  by 2%

Sterling ( by 1%

(L,W = 1.50


London Market (  by 3%

(a) Assume British Telecom is priced in a segmented market.


(i) What would the price of BT be on the London stock market?


(ii) What would the price of BT be on the NYSE?

(b) Assume British Telecom is priced in an integrated market.


(i) What would the price of BT be on the London stock market?


(ii) What would the price of BT be on the NYSE?

(c) Why might your answers be incorrect?

INTERNATIONAL

CAPM

Name: ‑‑‑‑‑‑‑‑‑‑‑‑‑‑‑‑
Student No.: ‑‑‑‑‑‑‑‑‑​

1. Jaguar Pic, a British firm is traded in London and New York. The beta of Jaguar with the British stock market is 1.2 and the beta of the British market with the world market is 0.8.

(a) If Jaguar 9 s stock is priced in the domestic market and the London market increases by 2% and the pound appreciates by 1%, what should happen to the value of Jaguar on the New York stock exchange?

 (b) If Jaguar's stock is priced in a world market and the London market increases by 2%, the world market declines by 1% and the pound appreciates by 1 %, what should happen to the value of Jaguar on the New York stock exchange?

2. Calculate the expected return on a Japanese company XYZ assuming the following:






Japanese Market        World Market    XYZ
Expected Return                        -1.15%                    +9.5%

Beta                                       Bj,w = -0.2              Bm = 1.0       Bxyz, j=1.2

risk free rate                           +5.2%


(a) Calculate the expected return on XYZ assuming it is priced in a world market (integrated).

 (b) Calculate the expected return on XYZ assuming it is priced in a domestic market (segmented).

3. Given the following information on Japan's Asahi bank and on the d market, calculate (a) a beta assuming Asahi is priced in an integrate market; and, (b) a beta assuming the bank is priced in a segmented.

CorrA,J = 0.85 
Corrj,w =0.35

@A = 35%
aj = 50% 
aw = 6%
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